ОМВ	CONT	ROL N	NO.	TITLE OF	INFORMATION CO	DLLECTION REQUEST							DATE PREPARE	D
	057	79-00	07										12/02/2021	
TYPE OF REQUEST				Na	National Poultry Improvement Plan								PUBLIC COMMENT DOCKET NO.	
	R	enew	al		-								APHIS-2021-0032	
POIN	IT OF (CONT	ACT										FEDERAL REGIS	TER NOTICE
	Elen	ıa Bel	nnke										86 FR	37989
TELE	PHON	IE NO.											FEDERAL REGIS	TER DATE
	(770)	922-	3496										7/19/	2021
							P	ART I - SUMMAR	Y					
	TOTAL F	RESPON	IDENTS	TOTAL	NNUAL RESPONSES	% ELECTRONIC	RESP	PONSES PER RESPON	DENT	TOTAL E	BURDEN HOURS	HOURS PER RESPO	ONSE % SM/	ALL ENTITIES
	2	2,867	,		234,630	75%		82		1	11,339	0.475		5%
						P	ART I	II - LIST OF ACTI\	/ITIES			I.	<u> </u>	
Ж	DENT	핑	HS.											
TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTI (title, respondent ty		N e, and type of change if discretionary)		F	ORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)		(F)		(G)		(H)	(1)	(J)	(K)	(L)
(A)	(B)	(C)	(D)	(E)		(F)		(G)		(H)	(1)	(3)	(K)	(L)
E	S1	Х	1	9 CFR 145.2, 146.2	Memorandum c	of Understanding (State	e)	None	F	Paper	49	49	0.160	8
E	S1			9 CFR 145.3, 145.12, 145.43 145.73h, 145.8	l, (Ctata)	and Testing Reports		VS Form 9-2	F	aper	49	20,167	0.160	3,227
D	P1			9 CFR 145.3, 145.12, 145.43 145.73h, 145.8	l, (Ducinoso)	and Testing Reports		VS Form 9-2	F	aper	3	300	0.160	48
E	S1		ı	9 CFR 145.3, 145.12		and Testing Reports - t Chicken Slaughter Pl		VS Form 9-2	F	aper	49	55,615	0.160	8,899
E	P1		I	9 CFR 145.3, 145.12		and Testing Reports - t Chicken Slaughter Pl		VS Form 9-2	F	aper	107	55,640	0.160	8,903

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
E	S1		I	9 CFR 145.3, 145.12	Flock Selecting and Testing Report - Flock Test Turkey Slaughter Plants (State)	VS Form 9-2	Paper	26	364	0.160	59
E	P1		I	9 CFR 145.3, 145.12	Flock Selecting and Testing Report - Flock Test Turkey Slaughter Plants (Business)	VS Form 9-2	Paper	31	372	0.160	60
E	S1		I	9 CFR 145.3, 145.12	Flock Selecting and Testing Report - Flock Test Egg Producers (State)	VS Form 9-2	Paper	49	1,323	0.160	212
E	P1	Х	I	9 CFR 145.3, 145.12	Flock Selecting and Testing Report - Flock Test Egg Producers (Business)	VS Form 9-2	Paper	1,312	1,312	0.160	210
	S1		I	9 CFR 145.3, 145.12	Commercial Waterfowl/Game Bird Egg Producing Flock Surveillance (State)	VS Form 9-2	Paper	3	3	0.160	1
	P1		I	9 CFR 145.3, 145.12	Commercial Waterfowl/Game Bird Egg Producing Flock Surveillance (Business)	VS Form 9-2	Paper	3	3	0.160	1
E	S1		I	9 CFR 145.12	Report of Sales of Hatching Eggs, Chicks, and Poults (State)	VS Form 9-3	Info system	49	16,023	0.250	4,006
	S1		I	9 CFR 145.23	Summary of Breeding Flock, Table-Egg Layer Flock, Meat-Type Chicken and Turkey Slaughter Plant Participation (State)	VS Form 9-4	Info system	48	384	4.000	1,536
	S1		I		Report of Hatcheries, Dealers, and Independent Flocks, Table-Egg Producers, Meat-Type Chicken and Turkey Slaughter Plants Participating in the NPIP (State)	VS Form 9-5	Info system	49	294	0.500	147

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
	S1		I	9 CFR 145.14, 145.53	Investigation of Salmonella Isolations in Poultry (State)	VS Form 9-7	Info system	1	1	2.000	2
	P1		I	9 CFR 145.14, 145.53	Investigation of Salmonella Isolations in Poultry (Business)	VS Form 9-7	Info system	1	1	1.000	1
E	S1		I	9 CFR 147.1	Flock Inspection and Check Testing Report (State)	VS Form 9-8	Info system	49	147	0.200	30
E	S1		I	9 CFR 145.12	Hatchery Inspection Form (State)	VS Form 9-9	Info system	49	1,078	0.200	216
	S1		I	9 CFR 145.5, 145.14	Sentinel Birds Banded or Marked for Identification Prior to Flock Vaccination (State)	None	Paper	49	98	1.000	98
	P1		I	9 CFR 145.5, 145.14	Sentinel Birds Banded or Marked for Identification Prior to Flock Vaccination (Business)	None	Paper	60	60	1.000	60
	S1		I	9 CFR 145.43	Request for Salmonella Serotyping (State)	VS Form 10-3	Paper	49	6,223	0.160	996
E	S1		ı	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Registration (State)	VS Form 9-20	Info system	14	14	1.000	14
E	P1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Registration (Business)	VS Form 9-20	Info system	3	3	40.000	120

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
Е	S1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Component Registration (State)	VS Form 9-21	Info system	14	28	1.000	28
E	P1		Ι	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Component Registration (Business)	VS Form 9-21	Info system	3	30	40.000	1,200
D	S1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Component Removal (State)	VS Form 9-22	Info system	14	43	0.417	18
E	P1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Application for U.S. AI and ND Clean Compartment Component Removal (Business)	VS Form 9-22	Info system	3	3	1.000	3
Е	P1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Component Audit (Business)	None	Info system	3	108	2.000	216
	P1		I	9 CFR 145.45, 145.74, 145.84	Auditor Application for NPIP AI Clean Compartment Program (Business)	VS Form 9-23	Info system	1	1	1.000	1
D	S1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Compliance Statement (State)	None	Info system	14	14	0.217	4
	P1		I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Compliance Statement (Business)	None	Paper	3,000	51,000	0.050	2,550
E	ı	x	I	9 CFR 145.45, 145.45a, 145.74, 145.74a, 145.84, 145.84a	Compliance Statement (Individual)	None	Paper	1,506	1,506	0.050	76

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
Е	S1		I	9 CFR 147.21	Printing and Mailing Computerized Printouts (State)	None	Paper	12	10,008	0.030	301
E	P1		I	9 CFR 147.21	Printing and Mailing Computerized Printouts (Business)	None	Paper	834	10,008	0.030	301
D	P1		I	9 CFR 145.45a, 145.74a, 145.84a	Description of Animal ID and Traceability Processes (Business)	None	Paper	3	3	1.000	3
D	P1		I	9 CFR 145.43h, 145.73h, 145.83h	Laboratory Examination for NDv and Reporting (Business)	None	Paper	1	1	1.000	1
	P1		I	9 CFR 147.53	Diagnostic Test Evaluation (Business)	None	Paper	4	4	1.000	4
D	P1		I	9 CFR 145.45a, 145.74a, 145.84a	ND Biosecurity Plan (Business)	None	Paper	1	1	1.000	1
D	S1		I	9 CFR 56.4	Indemnity Compliance Agreement (State)	None	Paper	1	1	1.000	1
D	P1		ı	9 CFR 56.4	Indemnity Compliance Agreement (Business)	None	Paper	1	1	1.000	1
	S1		I	9 CFR 56.4, 56.9	Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed (State)	VS Forms 1- 23, 1-23A, 1- 24, and 1-26	Paper	1	1	3.000	3

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P1				Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed (Business)	VS Forms 1- 23, 1-23A, 1- 24, and 1-26	Paper	1	1	3.000	3
D	S1		I		Initial State Response and Containment Plan (State)	None	Paper	49	49	10.000	490
	S1		R	9 CFR 145.4, 145.12, 145.45, 145.74, 145.84, 146.4, 146.12	Recordkeeping (State)	None		49	49	640.000	31,360
	P1		ь	9 CFR 145.4, 145.12, 145.45, 145.74, 145.84, 146.4, 146.12	Recordkeeping (Business)	None		2,296	2,296	20.000	45,920